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PHE-11 

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

December, 2014 

PHYSICS 
PHE-11 : MODERN PHYSICS 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt all questions. The marks for each question 

are indicated against it. Symbols have their usual 

meanings. You may use log table or a calculator. 

1. Attempt any five parts : 	 5x2=10 

(a) The life-time of muon in its rest frame is 
2 Its. How fast is it moving if its life-time 
appears to be 20 µs in the lab frame ? 

(b) Calculate the kinetic energy of an 
electron (m0  = 0.5 MeV/c2) moving with a 

speed of 0.8 c. 

(c) If an electron is assumed to be confined 
inside the nucleus of size 10-15  m, 
calculate the uncertainty in its momentum. 
Take h = 6.626 x 10-34  Js. 
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(d) The half-life of a radioactive element is 

8 years. How much time will be required 

for 100 g of the material to disintegrate to 

12.5 g? 

(e) Show that for any operator A, i (A — A+) is 

Hermitian. 

(f) Which of the following transitions is 

allowed ? Give reasons. 

1'31/2 1P1/2 

1'31/2 
 1 

'31/2 3/2 

(g) Give the charge and spin of up and strange 
quarks. 

2. Answer any two parts : 	 2x5=10 

(a) A rocket is fired from the Earth at a speed of 

0.6 c and another at a speed of 0.4 c in the 

same direction. What is the relative speed of 

the second rocket with respect to the 

observer in the first rocket ? 
	

5 

(b) Derive the relativistic energy — momentum 

relation for a free particle. 	 5 

(c) An event occurs at x = 20 km, y = 5 km, 

z = 10 km at t = 0 in a frame of reference S. 

What are the coordinates of the event in 

another frame S moving along the x-axis 

with a speed 0.8 c ? 	 5 
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3. Answer any one part : 	 1x10=10 

(a) A particle of mass m is confined in a 
one-dimensional box of length L such that 

V(x) = 0 	0 < x L 

= 0 	x < 0 and x > L 

Solve the Schrodinger equation to 
obtain the energy eigenvalues 

h  2 it2n  2 
En  = 	 
- 2 mL2  

and the normalized wave function e . n it x 
n (X) = — SM 	 10 

(b) (i) Define parity operator and obtain its 
eigenvalues. 

(ii) Establish the commutator 

[L„, Ly] = i h LZ  

4. Answer any one part : 

(a) The wave function of hydrogen atom in the 
second excited state is given by 

T(r, 0, (I)) =Are ri 2a° cos 

Calculate the normalization constant A and 
the expectation value of the potential energy 

V(r) = 	
1 e2 

4 ice0  h 
10 
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(b) State the selection rules for X-ray spectra. 
Explain with the help of a diagram the 
transitions that give rise to Ka  lines. An 
X-ray tube with a silver anode emits Ka  line 
at 21.99 keV and another Ka  line at 15.8 keV 
due to the presence of an impurity. Atomic 
number of silver is 47. Calculate the atomic 
number of the impurity. 	 2+3+5=10 

5. Answer any two parts : 	 2x5=10 

(a) What do you understand by the term 

radioactive equilibrium ? Obtain the 

condition for transient equilibrium in the 

decay of 238U. 	 5 

(b) Explain how the synchrocyclotron is used to 
accelerate particles to a few hundred MeV of 
energy. 	 5 

(c) How is energy released in a controlled 
manner in a nuclear reactor ? Discuss the 
importance of control rods in a reactor. 	5 

PHE-11 	 4 



 

Hite/ : 2 4(42 

	(41.71'14t.) 
Aiff tift4TT 

Rtornsit, 2014 

1:111WW 	 

: 3171f4W OPAII 

37717*--dv 31w: 50 

FP? N717 Of-4k7  / 514-4- 	.3* %oft?) ft/114 
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1. *1-i 	iTrTr 	: 	 5x2=10 

fakiiiiat-21T 'A• 	93f1 T 411a-1cbiri 2 gs 	I 

/TR mti)imicil *4 	tict..1 411cpichiti 20 gs 

fora-r t, c Takaffq 14*i ara 4 Trf TFT ? 

(ii) 0.8 c 	1410 	Trfk 	aic4 

(m0 .0.5 MeV/c2) 	411tA 4),41 	chrc1l 
*if* 

(Tr) zrft i0-15  m aTrzirtr     * 3TK 

Ta4trq" trik-F4 t, t 	* 	 
attfr-d-dr Trim tri* I 
h = 6.626 x 10-34  Js rev, I 
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110.kiet'ta dra 	34-3-Trg 8 q!=i t 
100 gctta 	12.5g 	4r '14 f*-d41' 

0;1111 ? 

tichitct) A iffR rti 	014R "ft i (A —At) -WO.  
t I 

PHICIRgd 	cili-Trr/4 4stiui 

cnikul Vtd ffT-47 I 
1 	> 

1P 
1/2 	1/2 

le, ----> L./ 
°1/2 	 3/2 

alq3 411 cta 1 	rCl 	 3TOW 	-gtR 
Gidiv 

2. chi 	 : 	 2x5=10 

() 7E 	k4e. -0 0.6 c 41-  -.no 14 mu -7-1 
ki4)d 	s3ti1 	0.4 c i zIIc 	 4 u1-4-1-  Aid! 

t 	 t-rkz 	44)e. 	 * 
TrAki aurgtzr 	? 	 5 

c:t) 	 -rt) 	* 	 aurki0r 	 — 	 
41f--A-R I 	 5 

S -R* Nemi t = 0, x = 20 km, 
y = 5 km, z = 10 km R ties!) t 171 1.46i1 

3 	 -qqa f4t4-ri- 	 ti x-3T 
* 3917z 0.8 ctriIc1 	711? 

(TO 
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3. chi 	ITTrf a7 	i*IPA7 : 	 1x1O=10 

() 	 m alca 1 	WIT -0 •FIrr 

	 wt4 	-41-Pra. 	1-1zrr) 

4ie 

	

V(x) = 0 	0 x 

	

= 00 	 x<031x>L 

4,31137-0-4grrq 

En = 
h2it2n2 

2 mi.,2  
Nti ICI 	frefir 	T 1:FFR" 

nnx 
(x) =

L 
sm. 

 L 

7f1:r  	s*It-ATT 	cbtul 
*11:14R I 	 10 

(i) tritt  	tritimr tf-AR ati-{ 4t.1 

370-41:17 TRA 0* 

	

Pv-irofigd 	bra 	: 

[Lx, Ly] = ihLz 	 5+5 

4. ch)i krW 	 : 	 1x10=10 

() 	 7P:1-rajcif -qlt 	31-41:2T1 4 -1-r 
: 

(r,0,4)=Are
—r/2a° cos 0 

Piemich A 

V(r) = 	 
1 e2 

 
4 ic0  h 

1:171iRchRicl Q1-4R I 	 10 
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(131) x-f-*-Tur to 	citul P414-1 -47-47 I Ka  1-Urq 

	d eta airl TiwITEr4 

k.11-15.1 	I X-1-*-pir RiffWf 4iN1 
rt-micia ti-ca (337---04) 61 	cbikul 2F99 keV 

tR 1i Ka ) 	MIT 15.8 keV tit 7111' Ka  . i.511 

.1c471 	r4-1(11e0 ct 	 (aTTOT) 	trpTroj 

9111-lich 	 'tf-A7 	-clicrt 	trkl:froj 9b1-1.14) 

47 I 	 2+3+5=10 

5. 	 3-Trrt 	: 
	

2x5=10 

() 	 ki14-04m-21T7 	31TEI 	 ? 

238u WI.  * rM aT-eTRTRII Trrizrrw:gt 

aTawr 3rru rr-A-R 
	

5 

(W) 0411(9441 4T-4R -I* 14k-t -ff7 -4 Ri-st)1ct\--4T-1 

chuil*t 	MeV d),Ai ctql4 	ct)k4)) 

ztrzOf rcheti \An t 
	

5 

(Tr) RTWzr it giki 	 fa d  frk 

3cLIA (1-41-ffi)   ? itcr€T -4 Pet-Act) tos.  

rr 	1T ii 	? 
	

5 
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